
S E R V I C E 5
97-04-09

Model 371/365
Bolts – Ignition system/crankcase
To increase the strength of the ignition system/crankcase joint we have increased the bolt
size from M4 to M5.
This has resulted in the following changes to spare parts:

Crankcase
- the crankcase with M5 mounting hole has a new reference number.
- the spare part crankcase is supplied with 2 x M5 bolts.

Ignition system
- the diameter of the hole in the ignition system is changed from 4.5 to 5.5 mm.
- the reference number remains the same.

When replacing the crankcase  on saws with serial numbers prior to 6490001 the ignition
system hole diameter must be increased from 4.5 to 5.5 mm. Use a round file and file as
shown in the illustr.

When replacing the ignition system  on saws with serial numbers prior to 6490001
2 washers 734 48 48-01 (4.2 x 9.0 x 1.0 mm) must be fitted with the M4 bolts.

New ref.no. Description Excl ref. no. Remarks
503 62 68-73 Crankcase assy. 503 62 68-71
503 20 02-20 Bolt M5 x 20 503 20 25-20 M4x20 R

R = Still available as spare part for older versions.

Introduced from serial no. 371 6490001
365 6500001

English Page 1/2

For Husqvarna Parts Call 606-678-9623 or 606-561-4983

www.mymowerparts.com



S E R V I C E 5
97-04-09

English Page 2/2

For Husqvarna Parts Call 606-678-9623 or 606-561-4983

www.mymowerparts.com


